Maths - 8.6
Finding a rule
Go to the following website:
https://whiterosemaths.com/homelearning/year-6/
Watch the video on finding a rule.
Now try the following questions.
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Find the answers below
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Each of these function machines has two steps. Give the missing inputs and outputs for each machine.
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3) Give the missing function and missing inputs for this two-step function machine.
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4) Look at these two-step function machines.

Do you agree or disagree with each child's statement? Explain why.

1f 1 add the function
-6 into both function machines
then both machines will give the

If T add the function
4 as the missing function in both
machines, they will both give the
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4) Leo:This Is Incorrect, as each machine will give a different ansioer f we do what Leo suggests. Adding 7 o o number,
then multiplying by 4, wil v a different answer to multiplying @ number by 5, then ading 7 to It

Ruby: This s comeet, as the palr of function machines will now have the function of +1.





